BRIERABRZINIHRETF SREELRFE
£280 SREBLZFPVYF I EFIERZ

FRIERABAZINIHBREF SREFLARTE)

$280 SREIv I P TJ)V I EFHEFRR

FRFA2ODPEI v FYZP I IEFERRESRETE)

HES 20236898 (E)
(OUT 28— ] (I N2&5— ) BEI—X \DEREAVYRU—=D5T

B |Glzo-r & 8 B & 8 |Z| & & |Z] & & | e |Zlzs-~ & 2 |2 & 8 |Bl & & |F| = & |F
1< 800 | T i |A| B H=: (2| Tm 5% |8 Hs ¥z |2 Sk 800 | ¥m £ (2| Ze H (K| ®H |F| =B & |
2 || 808 | B By |2 B fk |2 Tw Fa 2| 0B 0 | o || 5| 808 | B B & BL Zm || ¥m ®o |2 0% e |»
3 | @ ag 816 | Ex L |B| B Feg |&| T T= |X| Ui B |= s | @] & | 816 BB E=A |B|ERA E= |2 B B |E| #m Ba X
|| | s2e | B E- o] Mg #E |s] B0 F 2| &k B (3| o], [ 520 | B Be (o] B B |2 Bz 8] Ex 8z |0
s <0, | 892 | Bl 2n K| [k Be ||k <33 |F| ks Bz s s|@|7| 832 | B Fr |z Bm Er |8 Fk Hx (2| e G |F
o |@|3| 840 | Bm ¥ |F| &+ 2= %] iw B7 |8 Exnder = o |@| | 840 | £ |B| B2 Her|E| 2B B |8
| | e | g = |e ERA =z |8B|RA THn |2 7 848 | Jiit &z |X| x¥m B= 2| xiks & |F| xR Bx |8
8 <D 856 | xigim & |N| ikis @m= |B| BB “m |E| PR B= |B 8 | 856 | wigwr — || Mm B (2| B Bz (S| Am #a |7
o |@ 004 | [il5 Bh || whbm Bk || xR S| B| xEH B |7 o @ 9004 | %M Bk |®| Tom Bx |X| kB A |B| By B- |2
10 | <3 912 | %31 Mk |Z| k=@ b | KX| HER FRr |2| bR - |F 10 | <4> 912 | xfim Bz |B| Xy B 7| *UB Tk |ZE| X8 @ |E
1| <4 920 | xfmis Ak |B| kA T (2| k&% U |B| xiip B=|® 1S | 920 | &% K3 |7| %58 HR|Z| hE 4R |X| Bx Bn |8
121G | 928 | M =i || &% B |7 xlKX B |KX| xER 5E |5 12 | 6> ;’ 928 | %lkR A |Z| xR BE |F| o Fx |8 S @ |2
13| ® : 936 | wfiik Az |F| xEp BZ 2| Bm ¥ || kPR =@ | K 13 <7 § 936 | xRl B4 |EF| Bz B |8 %=k Hx|(Z| 2 B3 |X
14 | <> § 9044 | xR = |®| BR B3 |B| B BE |7 xAB Ax|Z 14 | @ 944 | [ill5 B | K| I B- |B| x=@ Zt | 8| kB Ak |8
15 | <8 052 | %Il Em| K| x& TR 2| BHE & |B|xEN FEkep| & 15 | < 952 | iEm f& |EF| xBE X8| B| TN FWE |Z2|xSis Skl ®
16 <> | 1000 | x#s & |2| Tk Zw |I| ikl 8@ | 2| x5 BE |8 16 K104 | 1000 | x35fp =& |Z| xFE 59 | K| B8 &= |8| x#R @ |2
170y | 1008 | Ffj B |&| x5 B |B| fow mx | B 1Ty 1008 | Ex EZ |7 BR s |8 Em dw |E| Bs e |
18 [K11> 1016 | fgis £ | 27] kO 8L | B| kg Bk | = 18 [K12> 1016 | 5 & @ Bv |E| BE 2k |V
19 k12 1024 | wBE =% |B| %hpg 7z || E5 =X |E (BR4RFE6,694Yards : ZFPV5979Yards : v RYZP6,219yards  Par72)

*E=T—)U RO (7TORML : 1953F (1B8F0285F) 12831 BIMEIICHESE) B4R 28 LTFPVY 22 Ty RV :92 (kB0) BEt142%8
A=NTEARACC (@4 &1+ 211) Zo=HEZHECC (B6 - 45+ 318) £=2WCC (E10- 42+ I12) E=REGL (141 - 22)

D=D2YVyDERCC (BO-%1-+-39) EB=8RGC (B4--%6-322) E=FERRCC (B2 %4+ =213) B=8REINIH= (E1 L2+ I5)



